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@ 9.36 + 3.6 ® 3.375+1.25
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@ 13.86 + 4.2 = 138.6 + 42 = 3.3
@ 25.92+7.2=2592+72=3.6
® 2516 +74=251.6+74=34
@ 9.36+3.6=93.6+36=2.6

® 3.375+1.25 = 337.5 + 125 = 2.7
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2] 2 9] Aol 8.5cmYYtt.
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12. ofmye} opdz] o] B A= Hl= 3.5 : 494t I BFA=
ofMU Kt} 12kgo] AFUtt. ot A &] FFA7F 84 kgol=tH, A
o] BRAE 2 kg¥y7P?

@ 40kg @ 60kg @ 46kg (@)48kg ® 50kg

~&B

3.5:4.95 7H8 A2 A o] B2 YERlE,
3.5:4.9 = (3.5x 10) : (4.9 x 10) = 35 : 49
35:49=(35+7):(49+7)=5:7

5:7=[ ]:84,
|:|=84><5+7,

[ ]=60
whahA], oMy o] B2 AL 60 kgolH, A2 BRAL 60-12 =
48kg AU ot
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13. o2 97159 ZHolE 1406.720m> YUk, 0] §17]52] 2
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@ 6018.44cm? @ 5678.52cm? @ 5024cm?®
@4019.2cm3 ® 31l4cm?®

~EB \
A71529] %olE [ |em 2t 514

8Xx8x3.14 X2+ 16 x 3.14 x| _| = 1406.72

401.92 +50.24 x| | = 1406.72

50.24 x| |=1004.8

|:| = 20(cm)

(P7159] H1]) =8x8x3.14x20
= 4019.2(cm®)
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d | L 1
O 34% @ 40.5% 3)43.75 %
@ 54% ® 63.25%

- (A 20] 4emel D] Ho))
= (SA=0] 4emd o] Fa))

(2] 50l 3em®l o] Hol)
(FEz]E°] 4cm?] Y] Wol)
_ 4x4x3.14-3x3x3.14
B 4x4x3.14
_50.24 — 28.26
- 50.24
_ 298
50.24
2198

~ 50.24
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x 100
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x| 1 |a |23
y|112 24 |6 |b
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whule] BAAS xxy=[ |y
1x12=120]2&

ax24 =12, a=12+24:%,
3xb—=12, b=12+3—14

1
2xa+b:2x§+4:5




